

On The Diophantine Equation $(p^q - 1)^x + p^{qy} = z^2$

Azizul Hoque* and Himashree Kalita

Department of Mathematics, Gauhati University, Guwahati, 781014, India

Received: 2 Feb. 2015, Revised: 5 May 2015, Accepted: 7 May 2015

Published online: 1 Jul. 2015

Abstract: We find non-negative integer solutions of the title equation, where p is a prime and $q > 1$ is an integer.

Keywords: Diophantine equation

1 Introduction

The Diophantine equation of the type $a^x + b^y = c^z$ has been studied by many author's over the several years. Cao [2] proved that this equation has at most one solution under certain conditions. Acu [1] proved that the Diophantine equation $2^x + 5^y = z^2$ has only two solutions in non-negative integers x, y and z . In 2011, Suvarnamani et al. [12,13] studied the Diophantine equation $2^x + p^y = z^2$ where p is a prime and x, y, z are non-negative integers. Peker et al. [5] gave the non-negative integer solutions of the Diophantine equation of the form $(4^n)^x + p^y = z^2$, where p is an odd prime. In 2012, Sroysang [6] established that $(x, y, z) = (1, 0, 3)$ is the only non-negative integer solution of the Diophantine equation $8^x + 19^y = z^2$. He [7] also established that $(x, y, z) = (1, 0, 2)$ is the only non-negative integer solution of the Diophantine equation $3^x + 5^y = z^2$. Moreover he [8,11] showed that the Diophantine equation $31^x + 32^y = z^2$ has no non-negative integer solution, but the Diophantine equation $2^x + 3^y = z^2$ has three non-negative integer solutions. In 2013, Sroysang [10] showed that the Diophantine equation $23^x + 32^y = z^2$ has no non-negative integer solution. In the same year, he [9] showed that the Diophantine equation $7^x + 8^y = z^2$ has only one solution which is $(x, y, z) = (0, 1, 3)$ and he introduced an open problem regarding the set of all solutions (x, y, z) for the Diophantine equation $p^x + (p+1)^y = z^2$, where x, y and z are non-negative integers. By attempting this open problem, Chotchaisthit [3] proved that $(x, y, z, p) \in \{(0, 1, 3, 7), (2, 2, 5, 3)\}$ are the only non-negative integer solutions of the Diophantine equation $p^x + (p+1)^y = z^2$ where p is a Mersenne prime.

In this paper we find the solutions of the Diophantine equation $(p^q - 1)^x + p^{qy} = z^2$ in the non-negative integers x, y, z, q and a prime p .

2 Main Results

We first state the Catalan's conjecture as a proposition which was proved by Mihailescu [4].

Proposition 2.1 [4]. $(a, b, x, y) = (3, 2, 2, 3)$ is the only solution of the Diophantine equation $a^x - b^y = 1$, where a, b, x and y are integers with $\min\{a, b, x, y\} > 1$.

We now solve the Diophantine equation

$$(p^q - 1)^x + p^{qy} = z^2 \quad (1)$$

where x, y, z , and $q (> 1)$ are non-negative integers and p is a prime.

We find the solutions of the Diophantine equation (1) via the following theorems.

Theorem 2.2. The Diophantine equation

$$(2^q - 1)^x + 2^{qy} = z^2 \quad (2)$$

has only three solutions $(x, y, z, q) = (1, 0, 2, 2)$, $(x, y, z, q) = (0, 1, 3, 3)$ and $(x, y, z, q) = (2, 2, 5, 2)$.

Proof. We prove this theorem by dividing it into two parts. Part-I: $y = 0$.

In this case the equation (2) becomes

$$z^2 - (2^q - 1)^x = 1 \quad (3)$$

* Corresponding author e-mail: ahoque.ms@gmail.com

If $\min\{x, z\} > 1$ then by Proposition 2.1, the equation (3) has no solution.

Again the equation (3) has no solution whenever either $z = 0, 1$ or $x = 0$.

Now for $x = 1$, the equation (3) has only one solution which is given by $(x, z, q) = (1, 2, 2)$

Part-II: $y \geq 1$.

In the equation (2), we observed that z is odd and thus $z^2 \equiv 1 \pmod{4}$.

Let $x = 0$, then the equation (2) becomes

$$2^{qy} = z^2 - 1 \quad (4)$$

Thus $2^{qy} = (z+1)(z-1)$ and hence there exist two integers m and n such that $2^m = z+1$ and $2^n = z-1$, where $m > n$ and

$$m + n = qy \quad (5)$$

Now $2^n(2^{m-n} - 1) = 2^m - 2^n = 2$.

This gives $m = 2$ and $n = 1$.

Since $q > 1$, equation (5) gives $q = 3$ and $y = 1$. Therefore $z = 2^n + 1 = 3$ and thus $(x, y, z, q) = (0, 1, 3, 3)$ is a solution of the equation (2).

Now let $x \geq 1$.

since $2^{qy} \equiv 0 \pmod{4}$ and $z^2 \equiv 1 \pmod{4}$, the equation (2) gives

$$(2^q - 1)^x \equiv 1 \pmod{4} \quad (6)$$

Again

$$2^q - 1 \equiv 3 \pmod{4} \quad (7)$$

Congruences (6) and (7) imply x is even.

Let $x = 2k$ for some integer $k \geq 1$. Then the equation (2) becomes

$$\begin{aligned} 2^{qy} &= z^2 - (2^q - 1)^{2k} \\ \Rightarrow 2^{qy} &= (z + (2^q - 1)^k)(z - (2^q - 1)^k) \end{aligned}$$

Thus we can find two non-negative integers r and s such that $2^r = z + (2^q - 1)^k$ and $2^s = z - (2^q - 1)^k$ with $r > s$ and

$$r + s = qy \quad (8)$$

Now $2^s(2^{r-s} - 1) = 2^r - 2^s = 2(2^q - 1)^k$.

This implies $s = 1$ and

$$2^{r-1} - (2^q - 1)^k = 1 \quad (9)$$

If $r > 2$ and $k > 1$, then by Proposition 2.1, the equation (9) has no solution.

Since $r \geq 0$, $q > 1$ and $k \geq 1$, it is remaining to examine when $r = 0, 1, 2$ or $k = 1$.

Clearly for $r = 0, 1, 2$, the equation (9) has no solution.

Now for $k = 1$, the equation (8) becomes

$$2^{r-1} = 2^{q-1} \quad (10)$$

From equations (8) and (10), we get

$$2^{qy-2} = 2^q$$

This gives $q = 2$ and $y = 2$ as $q > 1$.

Also $z = 2^s + (2^q - 1)^k = 5$.

Thus $(x, y, z, q) = (2, 2, 5, 2)$ is a solution of the equation (2).

Theorem 2.3. Let p be an odd prime and x be an even integer. Then the equation (1) has no solution.

Proof. From the equation (1), we see that z is odd and hence $z^2 \equiv 1 \pmod{4}$.

Let $y = 0$. Then the equation (1) becomes

$$z^2 - (p^q - 1)^x = 1 \quad (11)$$

If $\min\{x, z\} > 1$, then by Proposition 2.1, the equation (11) has no solution.

It is clear that the equation (11) has no solution when $z = 0, 1$ or $x = 0$.

Let $y \geq 1$ and let $x = 2t$ for some integer $t \geq 1$. Then the equation (2) can be written as

$$\begin{aligned} p^{qy} &= z^2 - (p^q - 1)^{2t} \\ \Rightarrow p^{qy} &= (z + (p^q - 1)^t)(z - (p^q - 1)^t) \end{aligned}$$

Thus we can find two non-negative integers a and b such that $p^a = z + (p^q - 1)^t$ and $p^b = z - (p^q - 1)^t$ with $a > b$ and $a + b = qy$.

Now

$$\begin{aligned} p^b(p^{a-b} - 1) &= p^a - p^b = 2(p^q - 1)^t \\ \Rightarrow 0 &\equiv 2(-1)^t \pmod{p} \end{aligned}$$

Which is an absurd.

Hence the equation (1) has no solution.

Theorem 2.4. Let $p (\neq z)$ be an odd prime and $q \geq 1$ be an integer. Then $(x, z, p, q) = (3, 3, 3, 1)$ is the only solution of the Diophantine equation

$$(p^q - 1)^x + 1 = z^2 \quad (12)$$

Proof. By Proposition 2.1, the equation (12) has a unique solution $(x, z, p, q) = (3, 3, 3, 1)$ if $\min\{x, z\} > 1$.

It is remaining to examine when $x = 0, 1$ or $z = 0, 1$.

Clearly The equation (12) has no solution when $x = 0$ or $z = 0, 1$

Again if $x = 1$, then the equation (12) gives

$$z^2 = p^q$$

This implies $q = 2$ and $p = z$.

This contradicts to $p \neq z$.

Thus once again the equation (12) has no solution.

Remark: For $p = 3$ and $q = 1$, the equation (1) becomes

$$2^x + 3^y = z^2 \quad (13)$$

Suvarnamani [13] showed that $(x, y, z) \in \{(0, 1, 2), (3, 0, 3), (4, 2, 5)\}$ are the only solutions of the equation (13) in the non-negative integers x, y and z . Sroysang [11] also found the same solutions of this equation.

Acknowledgement

First author acknowledges UGC for JRF Fellowship (No.GU/UGC/VI(3)/JRF/2012/2985).

Both the authors are thankful to Prof. Helen K. Saikia, Department of Mathematics, Gauhati University for her valuable suggestions.

The authors are grateful to the anonymous referees for their suggestions and remarks that help to improve this paper and in particular for introducing the references [3, 5].

References

- [1] D. Acu, On a Diophantine equation $2^x + 5^y = z^2$, *Gen. Math.*, **15**, 145-148 (2007).
- [2] Z. Cao, A note on the Diophantine equation $a^x + b^y = c^z$, *Acta. Arith.*, **XCI (1)**, 85-89 (1999).
- [3] S. Chotchaisthit, On the Diophantine equation $p^x + (p + 1)^y = z^2$, *Int. J. Pure Appl. Math.*, **88**, 169-172 (2013).
- [4] P. Mihăilescu, Primary cyclotomic units and a proof of Catalan's conjecture, *J. Reine Angew. Math.*, **572**, 167-195 (2004).
- [5] B. Peker and S. Cenberci, Solutions of the Diophantine equation $4^x + p^y = z^2$, *Selcuk J. Appl. Math.*, **13 (2)**, 31-34 (2013).
- [6] B. Sroysang, More on the Diophantine equation $8^x + 19^y = z^2$, *Int. J. Pure Appl. Math.*, **81**, 601-604 (2012).
- [7] B. Sroysang, On the Diophantine equation $3^x + 5^y = z^2$, *Int. J. Pure Appl. Math.*, **81**, 605-608 (2012).
- [8] B. Sroysang, On the Diophantine equation $31^x + 32^y = z^2$, *Int. J. Pure Appl. Math.*, **81**, 609-612 (2012).
- [9] B. Sroysang, On the Diophantine equation $7^x + 8^y = z^2$, *Int. J. Pure Appl. Math.*, **84**, 111-114 (2013).
- [10] B. Sroysang, On the Diophantine equation $23^x + 32^y = z^2$, *Int. J. Pure Appl. Math.*, **84**, 131-134 (2013).
- [11] B. Sroysang, More on the Diophantine equation $2^x + 3^y = z^2$, *Int. J. Pure Appl. Math.*, **84 (2)**, 133-137 (2013).
- [12] S. Suvarnamani, A. Singta and S. Chotchaisthit, On two Diophantine equations $4^x + 7^y = z^2$ and $4^x + 11^y = z^2$, *Sci. Tech. RMUTT J.*, **1**, 25-28 (2011).
- [13] A. Suvarnamani, Solutions of the Diophantine equation $2^x + p^y = z^2$, *Int. J. Math. Sci. Appl.*, **1**, 1415-1419 (2011).



Azizul Hoque was born in 1984 in Dhubri, Assam, India. He received M. Sc. degree in Pure Mathematics in 2008 from Gauhati University, India. He also received M. Tech. degree in Computational Seismology in 2011 from Tezpur University, India. He is a Junior

Research Fellow in the Department of Mathematics, Gauhati University, India. He is a guest professor in the Department of Mathematical Sciences, GUIST. He is also a guest professor in the Department of Mathematics, University of Science and Technology, Meghalaya, India. He has published several research articles in many reputed journals. His research area covers Arithmetic functions, Class numbers of number fields, Ring Theory and Graph Theory.



Himashree Kalita was born in 1985 in Guwahati, Assam, India. She received M. Sc. degree in Pure Mathematics in 2008 and M. Phil. degree in 2010 from Gauhati University, India. She also received PGDCA in 2011 from Gauhati University, India. She did her

Ph. D. in Module Theory from Gauhati University, India. She is working in Ring Theory, Module Theory and Arithmetic functions. In her research fields, she has published several research articles in many reputed journals. She is a guest professor in the Department of Mathematical Sciences, GUIST, India. She is also a Counsellor for M. Sc. course (Mathematics) in Institute of Distance and Open Learning, Gauhati University, India.